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B & /NWNEF Fi§ 36/ 35 717 2.0 69.0
EEH BEK E 39| 44 83 12.0 71.0
i FH ZEX 39 39 18 5.0 73.0
A (EH EE 3744 | 81 8.0 73.0
bii =&w FIE 46 37 83 9.0 /4.0
6 RE E= 41| 39 80 6.0 74.0
6L (ARER  BEMR 40 41 | 81 7.0 74.0
84 FHIIl —ER 41 44 85 11.0 74.0
O B HZ 40 43 83 0.0 74.0
105 fEH ZEsh 39 42 81 7.0 74.0
114 Bl FFIr 40 38 718 3.0 75.0
1260 /MAR dElE 42 41 83 8.0 75.0
131 HIE XK= 46 42 88 12.0 76.0
1445 F0Jt  $bo 42 44 | 86 10.0 76.0
151 ZE —f 23 | 18 1.0 71.0
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E B A2 Xt= 54| 44 98 30.0] 68.0
R WE E 5347|1000 31.0 69.0
362 I &3z 43| 40 83 13.0 /0.0
AL | £H HEK 46| 45 91 21.0/ 70.0
o PAIER E 3 47 540 101 31.0 70.0
6fi |Ji@Elll | 48 43 91| 20.0 71.0
R AE A NN ) 41| 45 86| 15.0 71.0
8L |MnH FEk 45/ 50 95/ 23.0 72.0
L B Kz M| 4T 91 18.0 73.0
102 3t RkBE 41| 47 88 15.0 73.0
1142 /NS FOts 42| 51 03 20.0 /3.0
1242 3 M= 46| 43 89 15.00 74.0
131 & A 5L\ 43 53 96 22.0 /4.0
1441 |MNpE  RBA 47 431 | 90 15.0 75.0
15462 /R E— 47 47 94 19.0 75.0
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B B HFT M 39 37 76/ 7.0 69.0
EBE LaKk BE 03 71 1.0 70.0
ML = F 5 37 40 77 6.0 71.0
AMi BE BEH 42 36 78 6.0 72.0
hisz B #B8F 43 40 83 9.0 /4.0
643 b BF 40| 39 79 5.0 74.0
i At =F 43] 39 820 1.0 75.0
8y THIk ALY 41| 43 84 9.0 75.0
O $HE H= 50 50, 100 24.0/ 76.0
102 &) BEf 43| 44 87 11.0 76.0
NG =8 TKRF 44 48 92/ 15.0 77.0
1260 a8 =BY a4/ 44, 88 9.0 79.0
136 BB =18 42 4 | 84 4.0/ 80.0
1445 #Ell #0F& 47 50 97/ 17.0/ 80.0
15 X#E =HY 43| 43 86/ 5.0/ 81.0




